hun_types_sental_attr hun_lemmas_sental_attr

- alignment_id int4 - alignment_id int4
confidence float4 confidence float4 malt_depstr
0 aid int4
val varchar(0)
language_id int2
hun_types_sental hun_lemmas_sental
- alignment_id int4 - alignment_id int4

4 segment_id int4 4 segment_id int4

segment_count int2 segment_count int2
9 - 9 - malt_dep

4 dep_id int4
dep_from int4
dep_to int4
depstr_id int4

giza_lemmas_wordal_attr

- alignment_id int4
confidence floatd
giza_lemmas_wordal
i alignment_id int4

man_sental - ./ token_id int4 4
man_sental_attr S i > segment_id int4 L T
Sl id = alignment_id int4 b text id int4 segmenpd int4
4o a |gn.mentf|d int: /> segment_id ini4 —+HH se ;tr id i H- type_id int4
confidence float4 — H——6< segment_count int2 gstr_| strpos: int2
9 - pos int2 A
tt_lemma_id int4 e~ giza_types_wordal
typestr o< tt_tag_id int4 - ‘_.-,'» alignment_id int4
o aid int4 = from_token int4
" val varchar(0) to_token int4
segstr
0 aid int4
val varchar(0)
tt_lemmastr tt_tagstr "
S— — giza_types_wordal_attr
S aid int4 S aid int4 o _
val varchar(0) val varchar(0) & allgn.mentfld int4
language_id int2 language_id int2 confidence floals
upos: "resources”."upos”
. " text
text_alignment_attr text_alignment ot T
- - A texta in
= alignment_id int4 = alignment_id int4 o VN
h ‘ collection_id int2
meta: jsonb H—0< & unit_id int4 H language_id in(2
meta: jsonb
collection

4 collection_id int2
name: varchar(0)
meta: jsonb



